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FACTORISATION

1. Factorise:

12x + 36

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uHsIARnr1Jo0

2. Factirse:

22Y — 337

° Watch Video Solution

3. Factirse:

14PQ +35 PQR.

° Watch Video Solution

4.Find the common factors of the given terms : 12z, 36

o Watch Video Solution



https://dl.doubtnut.com/l/_k5RDoaxCdDYV
https://dl.doubtnut.com/l/_gomj8gh6Llkv
https://dl.doubtnut.com/l/_cEOiTfELUWbD

5. Find the common factors of the given terms : 2y, 22xy

o Watch Video Solution

6. Find the common factors of the given terms

14pq, 28p*q*

° Watch Video Solution

7.Find the common factors of the given terms : 2z, 322, 4

° Watch Video Solution



https://dl.doubtnut.com/l/_jTZlM3vYZup0
https://dl.doubtnut.com/l/_I3w4H33XCB3g
https://dl.doubtnut.com/l/_D43L9b3tHRU3

8. Find the common factors of the given terms

6abc, 24ab?, 12a%b

° Watch Video Solution

9. Find the common factors of the given terms

1623, — 422, 32z

° Watch Video Solution

10. Find the common factors of the given terms : 10 pq,

20qr, 30rp

° Watch Video Solution



https://dl.doubtnut.com/l/_twlEThMdiwTV
https://dl.doubtnut.com/l/_YJEkS4u3IxRA
https://dl.doubtnut.com/l/_gIp28IupTPeW
https://dl.doubtnut.com/l/_Hy24xbvOYnfH

1. Find the common factors of the given terms

3z2y3, 1023y?, 62°y*2

° Watch Video Solution

12. Factorise the following expressions : 7x - 42

o Watch Video Solution

13. Factorise the following expressions : 6p - 12q

o Watch Video Solution

14. Factorise the following expressions : 7a® + 14a


https://dl.doubtnut.com/l/_Hy24xbvOYnfH
https://dl.doubtnut.com/l/_jWWsQCGtgYrY
https://dl.doubtnut.com/l/_TJwqXH6ZlRRi
https://dl.doubtnut.com/l/_ppBmTrz6cNB2

o Watch Video Solution

15. Factorise the following expressions : — 16z + 2023

° Watch Video Solution

16. Factorise the following expressions : 2012m + 30alm

° Watch Video Solution

17. Factorise the following expressions : 5z*y— 15z>

° Watch Video Solution



https://dl.doubtnut.com/l/_ppBmTrz6cNB2
https://dl.doubtnut.com/l/_Hf2z21KM7qpI
https://dl.doubtnut.com/l/_Z6gMjP7FLa9T
https://dl.doubtnut.com/l/_Dw1Hjd3sGD41

18. Factorise the following expressions : 10a®- 15b* + 20¢°

o Watch Video Solution

19. Factorise the following expressions : —4a? + 4ab-4ca

° Watch Video Solution

20. Factorise the following expressions

wzyz + wy2z + :cyzz

° Watch Video Solution



https://dl.doubtnut.com/l/_CODHnpyOicOV
https://dl.doubtnut.com/l/_wI5DjXrXPRgi
https://dl.doubtnut.com/l/_Px0Xyihhbuzi

21. Factorise the following

az’y + bzy® + cryz

expressions

° Watch Video Solution

22. Factorise : 2 + zy + 8z + 8y

° Watch Video Solution

23. Factorise:

15zy — 6 4 5y — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_3voaQyN33v5J
https://dl.doubtnut.com/l/_cXgOE4XrCCHM
https://dl.doubtnut.com/l/_3OODDcoPFFpT

24. Factorise : 15 pq + 15 + 9q + 25p

o Watch Video Solution

25.Factorise:z-7+7xy-xyz

° Watch Video Solution

26. Factorise the following expressions : a? + 8a + 16

° Watch Video Solution

27. Factorise the following expressions : p?— 10p + 25

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_rsuBc6lMc4xD
https://dl.doubtnut.com/l/_FiqpsbIQuSsB
https://dl.doubtnut.com/l/_RF0PojEZWssD
https://dl.doubtnut.com/l/_2DXyAFPiBlVi

28. Factorise the following expressions : 25m? + 30m + 9

o Watch Video Solution

29. Factorise the following expressions

49y* + 84yz + 362>

o Watch Video Solution

30. Factorise the following expressions : 4z:2— 8z + 4

o Watch Video Solution



https://dl.doubtnut.com/l/_2DXyAFPiBlVi
https://dl.doubtnut.com/l/_aIyS8KKvI8fj
https://dl.doubtnut.com/l/_fgjsis6vuDjI
https://dl.doubtnut.com/l/_kcr3EKGQFCld
https://dl.doubtnut.com/l/_VR9grpDcoMze

31. Factorise the following expressions : 121b°— 88bc + 16¢?

° Watch Video Solution

32. Factorise the following expressions : (I + m)*—4lm

° Watch Video Solution

33. Factorise the following expressions : a* + 2a%b* + b*

o Watch Video Solution

34. Factorise : 4p>— 9¢*

° Watch Video Solution



https://dl.doubtnut.com/l/_VR9grpDcoMze
https://dl.doubtnut.com/l/_HRXwa1O2XotV
https://dl.doubtnut.com/l/_LGjK7RdvMCWd
https://dl.doubtnut.com/l/_M3uANhENFvoU

35. Factorise : 63a>— 112b°

o Watch Video Solution

36. Factorise : 4922 36

° Watch Video Solution

37. Factorise : 162°— 14423

° Watch Video Solution

38. Factorise : (I + m)*~ (I-m)?



https://dl.doubtnut.com/l/_M3uANhENFvoU
https://dl.doubtnut.com/l/_AOScBzo5Uju9
https://dl.doubtnut.com/l/_ob5k0OkIj9c9
https://dl.doubtnut.com/l/_jRbVVR49cLLl
https://dl.doubtnut.com/l/_bp13HUbIrzqK

° Watch Video Solution

39, Factorise : 9z%y*— 16

° Watch Video Solution

40. Factorise : (:cz— 2zy + y2)— 22

o Watch Video Solution

41. Factorise : 25a°— 4b%> + 28bc— 492

o Watch Video Solution



https://dl.doubtnut.com/l/_bp13HUbIrzqK
https://dl.doubtnut.com/l/_3b7ksIU1tGSR
https://dl.doubtnut.com/l/_PY40Z3biS7lj
https://dl.doubtnut.com/l/_SijCOW2YLG0d

42. Factorise the expressions : az? + bz

o Watch Video Solution

43, Factorise the expressions : 7p® + 21¢>

o Watch Video Solution

44. Factorise the expressions : 2z° + 2zy? + 2z2>

° Watch Video Solution

45, Factorise the expressions : am? 4+ bm? + bn® + an?

[ ° Wiak hh \iAAaA CAliikiAan


https://dl.doubtnut.com/l/_GPpQmpa7kciZ
https://dl.doubtnut.com/l/_bgzzEcTueVkq
https://dl.doubtnut.com/l/_iqYDNnctxei6
https://dl.doubtnut.com/l/_Nmfrgw4RMqyJ
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46. Factorise the expressions : (Im+1) + m + 1

o Watch Video Solution

47. Factorise the expressions : y (y + z) + 9 (y + 2)

o Watch Video Solution

48. Factorise the expressions : 5y°— 20y— 82z + 2yz

o Watch Video Solution



https://dl.doubtnut.com/l/_Nmfrgw4RMqyJ
https://dl.doubtnut.com/l/_0T4QbwkdsJq0
https://dl.doubtnut.com/l/_SX5NQidphzAI
https://dl.doubtnut.com/l/_4c6G7IdiVpaC

49, Factorise the expressions : 10ab + 4a + 5b + 2

o Watch Video Solution

50. Factorise the expressions : 6xy - 4y + 6 - 9x

° Watch Video Solution

51. Factorise : a*— b*

° Watch Video Solution

52. Factorise : p*- 81

[ ° Wiak hh \iAAaA CAliikiAan


https://dl.doubtnut.com/l/_AUWfKNsd7hRV
https://dl.doubtnut.com/l/_QGnBGNqxEFpT
https://dl.doubtnut.com/l/_BhwXuJykZ833
https://dl.doubtnut.com/l/_rrtgw8B51d4O
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53. Factorise : z*~ (y + 2)*

° Watch Video Solution

54. Factorise : '~ (z—2)*

o Watch Video Solution

55. Factorise : a*— 2a2b% + b

o Watch Video Solution



https://dl.doubtnut.com/l/_rrtgw8B51d4O
https://dl.doubtnut.com/l/_SKATXBNNNN3t
https://dl.doubtnut.com/l/_PAYlLTiQOGPX
https://dl.doubtnut.com/l/_VQPwegDnecYO

56. Factorise the following expressions : p*> + 6p + 8

° Watch Video Solution

57. Factorise the following expressions : g*— 10g + 21

° Watch Video Solution

58. Factorise the following expressions : p*> + 6p + 8

o Watch Video Solution

59. Carry out the following divisions:

2824 + 562


https://dl.doubtnut.com/l/_JDcb1I4D6Y3y
https://dl.doubtnut.com/l/_bEWwSqNJCCYg
https://dl.doubtnut.com/l/_9ENGELvWD2CR
https://dl.doubtnut.com/l/_u5VpPcmH8R39

o Watch Video Solution

60. Carry out the following divisions:

—36y° + 9y°

° Watch Video Solution

61. Carry out the following divisions : 66pg°r® <+ 11gr?

° Watch Video Solution

62. Carry out the following divisions : 34z3y®2® + 51zy®2*

o Watch Video Solution



https://dl.doubtnut.com/l/_u5VpPcmH8R39
https://dl.doubtnut.com/l/_53jBgaMonYLy
https://dl.doubtnut.com/l/_4RpY6XViw96l
https://dl.doubtnut.com/l/_kErkl9NXeW9w

63. Carry out the following divisions : 12a%5% + (— 6a6b4)

° Watch Video Solution

64. Divide the given polynomial by the given monomial :

(52°-6z) + 3

° Watch Video Solution

65. Divide the given polynomial by the given monomial :

(3y8— 4 + 5y4) —vy4

o Watch Video Solution



https://dl.doubtnut.com/l/_WTM3g8rOQAPc
https://dl.doubtnut.com/l/_RvgrFyGr3whz
https://dl.doubtnut.com/l/_vTlh3LhuYPRI

66. Divide the given polynomial by the given monomial :

8($3y222 i :1:2y3z2 + x2y2z3) - 4332y222

o Watch Video Solution

67. Divide the given polynomial by the given monomial :

(m?’ + 222 + 3:1:) =+ 2z

o Watch Video Solution

68. Divide the given polynomial by the given monomial :

(p3q6_p6q3) PRI

° Watch Video Solution



https://dl.doubtnut.com/l/_6lf9tOvxgY8u
https://dl.doubtnut.com/l/_hZ5LekiJwmcc
https://dl.doubtnut.com/l/_BpXdM7Yb8TkB
https://dl.doubtnut.com/l/_XcSpWrUJEGU0

69. Work out the following divisions : (10z—25) +~ 5

° Watch Video Solution

70. Work out the following divisions : (10z—25) =+ (22— 5)

° Watch Video Solution

71. Work  out the following divisions

10y(6y + 21) +~ 5(2y + 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_XcSpWrUJEGU0
https://dl.doubtnut.com/l/_vjk8GQ6Z7cXW
https://dl.doubtnut.com/l/_8avIhCnN55xd

72. Work out the following divisions
9z2y? (32— 24) + 27Tzy(z8)

° Watch Video Solution
73. Work out the  following divisions

96abc(3a—12) (5b- 30) + 144(a—4)(b—6)

° Watch Video Solution

74.Divide as directed : 5(2z + 1)(3z + 5) + (2= + 1)

o Watch Video Solution



https://dl.doubtnut.com/l/_N6DhaFakHA0D
https://dl.doubtnut.com/l/_pX3HIhDGHhF1
https://dl.doubtnut.com/l/_JI0JNyAvcwFf

75.Divide as directed : 26zy(x + 5)(y-4) + 13z(y—4)

° Watch Video Solution

76. Divide as directed

52pgr(p + q)(q + r)(r + p) + 104pg(q + r)(r + p)

° Watch Video Solution

77.Divide as directed : 20(y + 4) (y* + 5y + 3) + 5(y + 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_DIILZnJlSX3D
https://dl.doubtnut.com/l/_PnXsyhHDJ89c
https://dl.doubtnut.com/l/_YUGioNB81gxM

78. Divide as directed

z(zx+1)(z+2)(x+3) - z(z + 1)

° Watch Video Solution

79. Factorise the expressionsand divide them as directed:

(v* + 7y + 10) = (y + 5)

o Watch Video Solution

80. (m* — 14m — 32) + (m + 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_YCQPhXF5uEm1
https://dl.doubtnut.com/l/_2A67BVvTVpaQ
https://dl.doubtnut.com/l/_5ETYIk1uWUO2

81. (5p° — 25p + 20) = (p — 1)

o Watch Video Solution

82. 4yz(z2 + 6z — 16) = 2y(z + 8)

o Watch Video Solution

83.5pq(p* — ¢°) = 2p(p + q)

o Watch Video Solution

84. 12:13y(9w2 — 16y2) + 4zy(3z + 4y).

I ° Watch Video Solution


https://dl.doubtnut.com/l/_Z8gmzklDnuw1
https://dl.doubtnut.com/l/_e6ifoSPJnfS3
https://dl.doubtnut.com/l/_RZBII3J2pUY4
https://dl.doubtnut.com/l/_geTxh3XnxnS3

85.39y° (50y° — 98) + 26y*(5y + 7).

o Watch Video Solution

86. Find and correct the error.

4(x — 5) = 4z — b.

o Watch Video Solution

87. Find and correct the error.

z(3z + 2) = 3z + 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_geTxh3XnxnS3
https://dl.doubtnut.com/l/_b4DDgeYtjA97
https://dl.doubtnut.com/l/_1gmAX0ULaBHR
https://dl.doubtnut.com/l/_JAIz5lpMQMIU

88. Find and correct the error.

2z + 3y = dzy

° Watch Video Solution

89. Find and correct the error: x + 2x + 3x = 5x

° Watch Video Solution

90. Find and correct the error: 5y + 2y + y = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_p8xYMFjvKe3W
https://dl.doubtnut.com/l/_vKgzSak3E4u6
https://dl.doubtnut.com/l/_qWVvK2vrXeI4

1. Find and correct the error

(2z)* +4(2z) + 7= 22 + 8z + 7

° Watch Video Solution

92. Find and correct the error :3xz + 2z = 52

° Watch Video Solution

93. Find and correct the error:

(22)* + bz = 4z + bz = 9

o Watch Video Solution



https://dl.doubtnut.com/l/_0OLokYW9ZAUY
https://dl.doubtnut.com/l/_fo4JT7vBSO64
https://dl.doubtnut.com/l/_atNcVwwhGFn5
https://dl.doubtnut.com/l/_DEofjzxGphuC

94.Find and correct the error :(3z + 2)° = 322 + 6z + 4.

° Watch Video Solution

95. Substituting z = —3 in z*+5x+4 gives,
(=3 +5(—3)+4=9+2+4 =15 Find and correct

the error.

° Watch Video Solution

96. Substituting z = —3 in z?—5x+4 gives:
(—3)°—-5(—-3)+4=9—-15+4= —2 Find and

correct the error.

o Watch Video Solution



https://dl.doubtnut.com/l/_DEofjzxGphuC
https://dl.doubtnut.com/l/_ZQlhYhuLKadC
https://dl.doubtnut.com/l/_GC4h3JcLkhBU

97. Substituting z = —3 in: z®+5z gives:
(—3)°+5(—3)= —9—15= — 24. Find and correct

the error

o Watch Video Solution

98. Incorrect:(y — 3)* = ¢* — 9

Correct:(y — 3)* = y® — 6y + 9.

° Watch Video Solution

99. Incorrect:(z 4 5)° = 22 4+ 25

Correct :(z + 5)° = 22 4 10z + 25.



https://dl.doubtnut.com/l/_GC4h3JcLkhBU
https://dl.doubtnut.com/l/_NkTrplcyHmcR
https://dl.doubtnut.com/l/_nDXp3huvU2bl
https://dl.doubtnut.com/l/_6YMSGCDi3nRP

l QP Watch Video Solution

100. Incorrect:(2a + 3b)(a — b) = 2a* + ab — 3b

Correct:

(2a + 3b)(a — b) = 2a® + 3ab — 2ab — 3b* = 2a” + ab — 3b°

o Watch Video Solution

101. Find and correct the error: (a + 4)(a + 2) =a®+ 8

o Watch Video Solution



https://dl.doubtnut.com/l/_6YMSGCDi3nRP
https://dl.doubtnut.com/l/_yBect0Zs1yAw
https://dl.doubtnut.com/l/_1UWisb9swnOM

102. Incorrect:(a — 4)(a — 2) = a* — 8
Correct:

(a —4)(a —2) = a® — 4a — 2a + 8 = a® + 6a + 8.

o Watch Video Solution

312
103. Incorrect: — =0
3x2
2

T
Correct : —— = 1.
32

° Watch Video Solution

322 +1 B

104. Find and correct the error: >

1+1=2
3z

° Watch Video Solution



https://dl.doubtnut.com/l/_BQM1ZyhyPlzL
https://dl.doubtnut.com/l/_S2YPVcQWeJiX
https://dl.doubtnut.com/l/_6ZNcEtRov469

105. Find and correct the error: 3 = —

° Watch Video Solution

3 1
106. Find and t th : =
ind and correct the error yr— P
o Watch Video Solution
4

107. Find and correct the error: zc4;3|— > =5

° Watch Video Solution
108. Find and correct the error: fz+5 = Tx.

[ ° Wiak Al \tAAaA CAliikian


https://dl.doubtnut.com/l/_NMZMDO2o6yXd
https://dl.doubtnut.com/l/_47EP6ng6Q3zu
https://dl.doubtnut.com/l/_lxm3oQzM7mqX
https://dl.doubtnut.com/l/_4AwqRLTrhGS4
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1. Find the H.C.F. of the following :

2y, 6w2y3, 8a:3y2.

o Watch Video Solution

2.Find the H.CF. of the following :

—9a°b%, 6ab®, 12a°b.

° Watch Video Solution



https://dl.doubtnut.com/l/_4AwqRLTrhGS4
https://dl.doubtnut.com/l/_QRUs2LggWDC2
https://dl.doubtnut.com/l/_L1fD36hTCrsJ

3. Find the H.C.F. of the following :

1422, 24z, 20.

° Watch Video Solution

4. Factorize by taking out the common factors:

4r + 8

o Watch Video Solution

5. Factorize by taking out the common factors:

622 + 3z

o Watch Video Solution



https://dl.doubtnut.com/l/_7S7lM6PPZ2ZG
https://dl.doubtnut.com/l/_Np7J063igXZp
https://dl.doubtnut.com/l/_YC8J5WQghFJz
https://dl.doubtnut.com/l/_yC6jtA8roohW

6. Factorize by taking out the common factors:

5% + 15y

o Watch Video Solution

7. Factorize by taking out the common factors:

4a,2—|—a,

° Watch Video Solution

8. Factorize by taking out the common factors:

102%yz + 152y

° Watch Video Solution



https://dl.doubtnut.com/l/_yC6jtA8roohW
https://dl.doubtnut.com/l/_zDNRtK5xqwJs
https://dl.doubtnut.com/l/_jcs8KeCQTTiG
https://dl.doubtnut.com/l/_yC2wo0OufDBr

9. Factorize by suitable grouping:

xyz —xy —z+1

° Watch Video Solution

10. Factorize by suitable grouping:

w2—3w—aw—|—3a.

° Watch Video Solution

11. Factorize by suitable grouping:

4(a + b)(3z —y) + 6(a + b)(2y — 3x)

o Watch Video Solution



https://dl.doubtnut.com/l/_yC2wo0OufDBr
https://dl.doubtnut.com/l/_2V3NJi827jlb
https://dl.doubtnut.com/l/_uNof3A6hAXZd
https://dl.doubtnut.com/l/_yOAORJCQODca

12. Factorize by suitable grouping:

a’b — ac® — ab + .

° Watch Video Solution

13. Factorize by suitable grouping:

:cy—yz—wz+w2.

o Watch Video Solution

14. Factorise 12a%b + 15ab?

° Watch Video Solution



https://dl.doubtnut.com/l/_yOAORJCQODca
https://dl.doubtnut.com/l/_995hnDBZ1I5n
https://dl.doubtnut.com/l/_KGOCzQ5aekK5

15. Factorise 10z2— 1822 + 14z*

o Watch Video Solution

16. Factorise the following expressions : a? + 8a + 16

o Watch Video Solution

17. Factorize the following Expressions:

4y — 12y + 9

° Watch Video Solution



https://dl.doubtnut.com/l/_qSvCfXAWFUIG
https://dl.doubtnut.com/l/_QEGprJIHiOay
https://dl.doubtnut.com/l/_dfiMW6fDAUma

18. Factorize the following Expressions:

2 + 101 + 25.

° Watch Video Solution

19. Factorize the following Expressions:

16m? + 24m + 9

° Watch Video Solution

20. Factorise the following

49y* + 84yz + 362>

expressions

° Watch Video Solution



https://dl.doubtnut.com/l/_TF68zwXe6HZq
https://dl.doubtnut.com/l/_6q7uDRb9RlU3
https://dl.doubtnut.com/l/_vVjl3ZTcfeCL
https://dl.doubtnut.com/l/_HK7MfxY2pb8n

21. Factorize the following Expressions:

121z* — 88zy + 16y°.

O Watch Video Solution

22. Factorise:

22° — 16y°

o Watch Video Solution

23. Factorise:

1622 — 251>

° Watch Video Solution



https://dl.doubtnut.com/l/_HK7MfxY2pb8n
https://dl.doubtnut.com/l/_KNj8PzIQHX3l
https://dl.doubtnut.com/l/_AVz5XeGjllvA
https://dl.doubtnut.com/l/_PzJ8sMVvWiJN

24. Factorise:

45a% — 125b°

o Watch Video Solution

25. Factorise:

3z? — 48y*

° Watch Video Solution

26. Factorise:

81zt — 12122

o Watch Video Solution



https://dl.doubtnut.com/l/_PzJ8sMVvWiJN
https://dl.doubtnut.com/l/_qxEQX8PK0o7r
https://dl.doubtnut.com/l/_7R802ZslvduI
https://dl.doubtnut.com/l/_GLcZbRPWFTin

27. Factorise:

2r — 3223

° Watch Video Solution

28. Factorise:

(9a + b)* — 9

o Watch Video Solution

29. Factorise:

xr — 64x°.

° Watch Video Solution



https://dl.doubtnut.com/l/_GLcZbRPWFTin
https://dl.doubtnut.com/l/_8gkLB299M1hX
https://dl.doubtnut.com/l/_rcNUfHUxBUlH
https://dl.doubtnut.com/l/_nTRcinTT3VwL

30. Factorise:

z? — 32zy — 105y

o Watch Video Solution

31. Factorise:

z2 + 21z + 108

° Watch Video Solution

32. Factorise:

6x> + Tz — 3

° Watch Video Solution



https://dl.doubtnut.com/l/_nTRcinTT3VwL
https://dl.doubtnut.com/l/_nKRZ5Y3TVoOM
https://dl.doubtnut.com/l/_ucY5zU4FVMbA
https://dl.doubtnut.com/l/_Z1mNRpZCzHpQ

33. Factorise:

422% + 10z — 12

° Watch Video Solution

34. Factorise:

12y%y — 6

° Watch Video Solution

35. Factorise:

z? — 10z + 21.

o Watch Video Solution



https://dl.doubtnut.com/l/_Z1mNRpZCzHpQ
https://dl.doubtnut.com/l/_s3BCxWDrs5Hh
https://dl.doubtnut.com/l/_lSov7FuUFLbr
https://dl.doubtnut.com/l/_bqfFIVNmk0ff

36. Carry out the following divisions:

6> + 2z.

o Watch Video Solution

37. Carry out the following divisions:

—20z* = 102>

o Watch Video Solution

38. Do the following divisions : T2y’ 2? + ldayz

° Watch Video Solution



https://dl.doubtnut.com/l/_bqfFIVNmk0ff
https://dl.doubtnut.com/l/_bxUEbWjUcXcN
https://dl.doubtnut.com/l/_9LfjXy50Q2xZ

39. Carry out the following divisions:

40pzq2 = 8pq.

° Watch Video Solution

40. Carry out the following divisions:

15pzq2 = 8pq.

o Watch Video Solution

41. Carry out the following divisions:

22.’1}3 4 5 . 11333 3 3

o Watch Video Solution



https://dl.doubtnut.com/l/_vxYnh8UBDZfw
https://dl.doubtnut.com/l/_ybRud0s5WDF7
https://dl.doubtnut.com/l/_htXYRt63S5GJ
https://dl.doubtnut.com/l/_Z3ScYxyIjRT0

42.Divide the given polynomial by the given monomial:

(8:1:2 — 533) =+ 4.

° Watch Video Solution

43. Divide the given polynomial by the given monomial:

(102® 4 25z) + 5z.

° Watch Video Solution

44.Divide the given polynomial by the given monomial:

(4y° + 8y + 6y) + 2u.

° Watch Video Solution



https://dl.doubtnut.com/l/_Z3ScYxyIjRT0
https://dl.doubtnut.com/l/_CslP5kudT3zS
https://dl.doubtnut.com/l/_ZtCNb0z7It8g
https://dl.doubtnut.com/l/_dVHHb4yWxQgC

45. Divide the given polynomial by the given monomial:

24(:132yz + zy’z + a:yz2) =+ 8zyz.

° Watch Video Solution

46. Work out the following divisions:

(7z* + 14z) = (z + 2)

° Watch Video Solution

47. Work out the following divisions:

44(z* — 52° — 242%) + 11z (z — 8)

o Watch Video Solution



https://dl.doubtnut.com/l/_dVHHb4yWxQgC
https://dl.doubtnut.com/l/_AV1EjoQdeW3E
https://dl.doubtnut.com/l/_9pjcbCJ6sYKI
https://dl.doubtnut.com/l/_gK9egJQ9kGXg

48. Work out the following divisions:

z(52° — 80) + 5z(z + 4)

° Watch Video Solution

49, Divide as directed:

43p+1)(2p+5) +~ (3p+ 1)

o Watch Video Solution

50. Divide as directed:

15zy(z + 2)(y — 3) + dx(y — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_gK9egJQ9kGXg
https://dl.doubtnut.com/l/_GUMx8HVPVwWT
https://dl.doubtnut.com/l/_fyhhCjARodV6
https://dl.doubtnut.com/l/_5kaBv0GJ54qG

51. Divide as directed:

48mnp(m + n)(n + p)(p + m) + 16mn(n + p)(m + p)

o Watch Video Solution

52. Divide as directed:

—(p+1)(p+2)(p+3) +p+1).

° Watch Video Solution

53. Factorise the expressions and divide them as directed:

(y> + 6y +5) + (y+5)

o Watch Video Solution



https://dl.doubtnut.com/l/_5kaBv0GJ54qG
https://dl.doubtnut.com/l/_5U2tvoUf9Mi3
https://dl.doubtnut.com/l/_GW5EITE4VDNO
https://dl.doubtnut.com/l/_qWxxyJhkkEnK

54. Factorise the expressions and divide them as directed:

(3m* — 27n?) + (m + 3n)

° Watch Video Solution

55. Factorise the expressions and divide them as directed:

(42° — 10z + 4) = (2z — 1)

o Watch Video Solution

56. Factorise the expressions and divide them as directed:

(42® — 4z + 1) + (2z — 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_qWxxyJhkkEnK
https://dl.doubtnut.com/l/_tz1rq0nzFiPy
https://dl.doubtnut.com/l/_lf4QJxdpJWCc
https://dl.doubtnut.com/l/_qBLedDgW1T2Q

57. Find and correct errors in the following mathematical

statements.

3(x —4) = 3z — 4

o Watch Video Solution

58. Find and correct errors in the following mathematical

statements.

z(4z + 3) = 4z* + 3.

o Watch Video Solution

59. Find and correct errors in the following mathematical

statements.


https://dl.doubtnut.com/l/_qBLedDgW1T2Q
https://dl.doubtnut.com/l/_eRSBGCCGJ1Es
https://dl.doubtnut.com/l/_w0RrPgKSjcq9

T+ 3x + 2 = 8

° Watch Video Solution

60. Find and correct the errors in the following
mathematical statements.

2m + 3n = 6mn

° Watch Video Solution

61. Find the correct errors in the following mathematical
statements.

Az + 3z = 1222

o Watch Video Solution



https://dl.doubtnut.com/l/_w0RrPgKSjcq9
https://dl.doubtnut.com/l/_qgyb8DRRZ79m
https://dl.doubtnut.com/l/_VQIZZCRF7Eej

62. Find and correct the errors in the following

mathematical statements.

Substitutingx = — 2in
z? + 6z — 9 gives
(—2°4+6(—-2)—9=4+3-9= —2

o Watch Video Solution

63. Find and correct the errors in the following
mathematical statements.

(2a — 3)(a + 2) = 2a® — 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_5ThQTNq1cfaH
https://dl.doubtnut.com/l/_lMRyd1UlXkLa

64. Find and correct the errors in the following
mathematical statements.

(z + 8)° = z2 + 64.

o Watch Video Solution

65. Find the correct errors in the following mathematical

statements.

(x—5)°=z2-25

° Watch Video Solution

66. Find and correct the errors in the following

mathematical statements.


https://dl.doubtnut.com/l/_v0oDfes0aye5
https://dl.doubtnut.com/l/_P9GffSDQpmua
https://dl.doubtnut.com/l/_acuGiD4JpnkX

a—+5
5

=a + 1.

° Watch Video Solution

67. Common factors of 12x and 36 will be

A 12

B. 12x

C.36

D. 36x.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_acuGiD4JpnkX
https://dl.doubtnut.com/l/_SyiZq8m6YoMP

68. Find the common factors of the given terms :

6abe, 24ab?, 12a%b

A. 6a
B. 6ab
C. 6abc

D. abc.

Answer:

° Watch Video Solution

69. Factorise 22 + zy + 8x + 8y:

A. (x+y)(x+8y)


https://dl.doubtnut.com/l/_PmiXj9D39z1w
https://dl.doubtnut.com/l/_UtlGroO9R3Pg

B. (x+y)(8x+y)

C. (x+y)(x+8)

D. (x+y)(y+x)

Answer:

o Watch Video Solution

70. The factors of 25m? + 30m -+ 9 will be :

A. (5m + 3)*
B. (5m — 3)°
C. (5m?® +3)°

D. (5m — 3)".


https://dl.doubtnut.com/l/_UtlGroO9R3Pg
https://dl.doubtnut.com/l/_DoASzQkuOv69

Answer:

° Watch Video Solution

71. Factorise : 4p>*— 9¢°

A. (4p+9q)(4p-9q)
B. (2p+3q)(2p-3q)
C. (p+q)(p-q)

D. (2p+3q)(2p-39).

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_DoASzQkuOv69
https://dl.doubtnut.com/l/_B94TWnflurCe
https://dl.doubtnut.com/l/_H54vlZW7Mup3

72. Factorise: (:1:2— 2zy + yz)— 22

A. (x+y+2z)(x-y-z)
B. (x-y-z)(x+y-z)
C. (x-y+z)(x-y-z)

D. (x+y-z)(x-y+z)

Answer:

o Watch Video Solution

73. The factors of P2 + 6p + 8 will be:

A. (p+4)(p+2)

B. (p+1)(p+8)


https://dl.doubtnut.com/l/_H54vlZW7Mup3
https://dl.doubtnut.com/l/_Ph9KnNrnH6gx

C.(p+4)(p-2)

D. (p-4)(p-2).

Answer:

° Watch Video Solution

74. Carry out the following divisions:

2824 + 56z

A 2z3


https://dl.doubtnut.com/l/_Ph9KnNrnH6gx
https://dl.doubtnut.com/l/_lngVLwOp4hbL

Answer:

° Watch Video Solution

75.0n dividing (5332 — 6m) < 3z we obtain:

A. 5x-2

1
B. 5(513 — 6)
C. ‘1/3(5XA2-6)

1 2
D. 5(522 — 2)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_lngVLwOp4hbL
https://dl.doubtnut.com/l/_LXtufho3MsxT
https://dl.doubtnut.com/l/_nttN9dFPEtPL

76. Work out the following divisions : (10z—25) +~ 5

A. 2x-5
B. 2x+5
C. 2x-25

D. 2x+25.

Answer:

o Watch Video Solution

77.0n substituting z = — 2in z? + 5z + 4 we get :

A. 15


https://dl.doubtnut.com/l/_nttN9dFPEtPL
https://dl.doubtnut.com/l/_yxOc4GvBo3IT

C.24

D. 28

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_yxOc4GvBo3IT

